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1. The ratio between 7.5 kg and 3.5 kg is: , :
(A)7:15 (B)7to 15 (C)7+15 (D)-l-é
3. Rs. 88 is what percent of Rs. 400? 7
(A)22% (B)21% : (C) 23% (D) 25%
3. Simple interest on Rs. 10,000 at the rate of 10% in 10 years is: - :
~ (A)100 (B) 1000 (C) 10000 (D) 100000

4. A first degree equation is called:

(A) Quadratic Equation(B) Linear Equation - = (C) Non;Lincar Equation (D) Constant

5. Discriminant of a quadratic equation is: b ,
- (A)b2+4ac (B) b? 4ac (C) -b? 4ac (D) -b? +4ac
6. The point (-2,-3) lies in the quadrant: : - < EA N .
(A) Il (B)II ©1 (D) 1V
7. In the binary number system, 2 is equal to: i
(A) (10), (B)(11), : (C) (101), (D) (110),
8. (100),+ (10), | Cl
(A) (111), (B) (011), (©) (110), - (D) (100),
' 2 -1 '
9. lfA=[4 3 then |A| =7 i, e
(A) 11 (B) 10 (C)6 D)8
2.0 '
10.. The matﬁx_[o 3] is: ;
(A) Scalar (B) Diagonal (©) Identity (D) Null

5 B |6 A |1 A [8. C [9. B 1.8 ]
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SECTION -1 .° = | px2=12

o any Six parts.
ad and A
=3+2=3

3 = -

Share of Ahmad = 5% 20=4x3=12pen

2, 20=4x2=8pen.

E?] Write short answers {

(S?) Divide 20 pens between Ahm
L Sum of ratio

li in the ratio 3:2

P

: Share of Ali = 5
— 2 ‘_-——-—‘—-—-___-_.—
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i hrcct proportion. _ : ' |
(i) - efine i ion is ( jantities in consideration move ;
Ans. Kcy point of dircct propnrt-mh is fhnl both the .ql a ( . ove in samg

' © Jirection i.¢., both are cither increasing or decreasing.

A radio was sold for Rs. 400 on 10% loss. Find the cost price of radio.

(iii)
Sol. Sale price = Rs. 400
Rate of loss = 10% = 0.1
Cost =7

Sale price 400 _ 400 _ Rs. 444

Cost = T_Rate of loss  1-0.1 095
00 in 8 months?

(iv) What must be rate of interest on Rs. 4000 to produce Rs. 2

Sol. Principal amount (P) = 400
Simple interest (S.1) = 200 ;
g8+ 2, '
Number of year (N) = THE) :
Using formula S.I =PIN

2
200 =4000 x I x 3
600 = 4000 x [ x2
300 = 4000 x [

3 .

40
3 ey
Interest rate =1 = 75 = 0.075=7.5%
{v) 320 is what % of 800? .
Sol. Using the formula of abe, ab = 100c¢

2000 < ] 3
goo , | ’

3
ax800=100x320 = a=

(vi) Define linear equation.
Amns. Jt is an algebraic equation of following form: ax + b = 0 where: aand b are constant and x is
the variable and a # 0. The power of x must be one.

3x X
1) Sobve f - 2=_-3
(vii) cfor x 3 3

Sol. L . ‘
4 3
3x
T-E =3+2
3(3x)-4(x) _
i 12 B .
9x-4x =§x 12
Sx =5x12
=12

* (viii) The som of 3 number and its reciprocal is_zo. Find the quadratic equation in standard for™

Sol. Let be a number = x and its reciprocal = -!-
X
1

sum = ’H’; =20

=20

X +1 =20x
xX*-20x+1=¢

Which is required quadratic €quation is standard form. - ' __-/

x?+1
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;;}x;”-Solvc 5x2+3x =0

Sol' 5x2+ 3)( = 0
x(5x+3) =0
x=0 5x+3 =0
; S5x =-3=>  x b s
s.S= 0,-_} '
5 ’
Write short answers to any Six parts. . , L BX2=12
@) Define '‘Domain' of function y = f(x) ’
Ans. The set of all possible input valve of the function is called domam of a function. .
i) Draw the graph of l'(x) 2x - 1.
Sol. ' FAX)=2x-1 ‘ ' y- axis
X y = fx) Graph: |
-2 -5 :
-1 -3
0 _l' e . - xis o X~ axis
1 1
2 3
3 7|« 5 - axis
(i) Convert 32 into binary number system.
Sol. 21327
2116 - 0
2 g8 - 0 ‘
2 4 - 0
I3[ 2 = 0./
1 - 0 32 = (100000),
(iv) Simplify (1110),-(101), ;
Sol. a 11 0,
- (1 0 D,
a0 0 1,

(v) Convert (101), into Decimal base system.
Sol. (101),=1 x 2240 x21+1x2°=1x4+0+1 x1_4+0+1_5

(vi)  Define Column Matrix. ’
Ans. A matrix having single column but having any number of rows is called column matrix.

For example, *

2 -
[12] isa2 x 1 column matrix.. L

2 ] 1 2] .
(vii) ]fA:[z l]’ndB= 11 Find A+B.

2 -l aL 2]
Sol, A=|:2 ]]andB—[] 1l

1y -] v 2]_[2*] -1+2]_[3 1]
ThenA"'B'-'[ 1]*[; 17241 1+1 )73 2
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(viii) IFA= |5 ¢, find Z|A| |

: 3 4

Sol. |Al = 6l =3x6-4x5=18-20=-2

1 1 1
According to conditions , ) |A] = E(-Z) = 3 |Al==1%0

FlﬁA" if A= :. 2
(ix) n "A-'-l .

2
: : 1 2
Sol. Given matrix: A = -1 2
1 2 2 2
AL =1, | TI@-C1x)=2-(2)=4 yadjA=|, 1
2 2] L o
g 1102 21 |3 = 2 2
4 =—Adj=_2 | = =
At = hd 4[1. l] LR O L
_ 4 4 4 4
SECTION - II

(L= Attemnt 2ny TWO questions. 2 X8=1)
W3 (3)Rs. 4000 are sutticient for a family of 4 membars for 48 days. For how many days RS.
15009 will be suificient for family of 5 members.
Rupees »
4000
[5000 (Increase)

! 3
= e(E(e) (4 2
40 \5)"\ 4000 INA
. x : - .
20" = x=120 umts.
Which are requred 120 days

(b) Compute compound interest on Rs. 5000 for 6% years at
semi-annually.

Sol. P =Rs. 5000

Sal. Members Days
3 1)

5 (Increasc)

2}% compoundes

1 .5

=0.025 per annual

0.025
= > per half annual

=0.0125 per halfannuél
1 13

n= 63 years = ? years

13 .
= 3% half years
. 0 =13 half years
A =p(l+r) :
=5000 (1+0.0125)"

=5000(1.1752) = 5876.32
Compound Interest = C.| = A-p '

= 587632 - 500 -
=876.32
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05 (3) Ity = 3x -6 then find x —intercepi and y-Intercept and draw the graph.

Sol. y=3x-6 [0) Graph:
X - intercept .
For x—interccpt puty=oin (i) W
. 0= 3x-6
Ix=6
X =2 ‘
= 2.0) e e
Y — intercept
For y—intercept put x =0'in (i)
y = 3(0)-6
y = -6 - / (0.-6)
0,-6 ’
= 0-6) AN
x+2 x-3_5
—+
(b) Solve ——S*+-5=3 orxaea—z
L x+2 x-3_5 By cross multiplication :
o =3 x+2 2 22x2—2x + 13) = 5(x2—x—6)

Take L.C. M on left side
(x+2) +(x-3)" _5
(x-3)(x+2) 2

X" +4x+4+x —6x+9 5

=

4x2—-4x+26 =5x2-5x—-30
4x2-5x2—-4x+5x +26+30=0
-x2+x+56 =0
x2—-x-56 =0
By the method of factorization
x2- 8 +Tx =56 =90

xz+2"*“3\“6 - X (x-8)+ 7 (x-8} =0
2x"-2x+13_5 (=SHxt7) =0
X2 x—6 2 x-8=0"""; X'¢7=0 |
x=38 - X 7 1
SS={-7.8} 1
[3 (a) Solve by Crammer's rule 4x-y =13, 3x-2y="6 |
Sol. Given 4x-y =13 ‘
‘ 3x-2y =6 !
The marix form is
4 —1ffx|_|13 ‘
3 2|y -6 ‘
4 -1 |
Let A=[3 —2]
By crammer rule
13 -l
_|A.|=_6 —2__=—26+6=—20=4
1Al & -] 843 5
3 =2
4 1 : ,
A b 6]_sa-39_45_ 4
y=_=' = —_—— .
|A[ 4 -1 -8+3 -5
3 -—2 - A Y
(b) Evaluate (100111), x (111);
SoL. (100111), x (111),
, a o o 1 1 1
x a 1 n,
=0 0 1 11
r o o .1 I 1 x
LI VR R e R T L L
_ —a o o 0 | 0 0 0 1),
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